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Answer all questions.

Answer each question in the space provided for that question.

1 The quadratic equation 2x2 þ 6xþ 7 ¼ 0 has roots a and b.

(a) Write down the value of a þ b and the value of ab.
[2 marks]

(b) Find a quadratic equation, with integer coefficients, which has roots a2 # 1 and
b2 # 1 .

[5 marks]

(c) Hence find the values of a2 and b2.
[2 marks]

Answer space for question 1
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8 (a) Complete the table of  values for          y = 3 – x2

[2 marks]

8 (b) Draw the graph of           y = 3 – x2 for values of  x from – 3 to 3
[2 marks]

x – 3 – 2 – 1 0 1 2 3

y – 1 2 2 – 6

– 4

–2

–6

O

2

–1 1 2–2

y

x3–3

–5

–3

–1

3

1

7 Do not write
outside the

box

(07)
Turn over !

6 (a) Work out         – of  45
[2 marks]

............................................................................................................................................

............................................................................................................................................

Answer ......................................................................

6 (b) Work out         – × –
[1 mark]

............................................................................................................................................

............................................................................................................................................

Answer ......................................................................

*7 A company has 8 minibuses.
Each minibus can carry 14 passengers.

The company wants to take 98 people on a trip.

Does the company have enough minibuses?
You must show your working.

[2 marks]
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4 (a) Find the general solution, in degrees, of the equation

2 sinð3xþ 45!Þ ¼ 1
[5 marks]

(b) Use your general solution to find the solution of 2 sinð3xþ 45!Þ ¼ 1 that is closest to
200!.

[1 mark]

Answer space for question 4
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7 The diagram shows the net of  a cube.

Put numbers on the blank faces so that opposite faces of  the cube add up to 7
[2 marks]

8 5 miles = 8 kilometres 

Which is longer, 26 miles or 45 km?
You must show your working.

[2 marks]
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Is it true that the the sum of two

even numbers is even ?

Example
.

÷ 6 : 4=2.2
6=2.3

4+6=2.2+2.3 = 24+31=2.5
- =




